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1 次の関数を微分しなさい.

(1) y = −x4 + 3x2 − x+ 2

(2) y = 5 cos 2x+ 3 sin 3x

(3) y = 2 log x− ex

(4) y = (x2 + 1) sin x

(5) y =
x

1 + x+ x2

(6) y =
1− log x

1 + log x

(7) y = sin−1 x

(8) y = log(x+
√
x2 + 1)

(9) y = xsinx



2 次の積分を求めなさい.

(1)

∫
x4

4
+ 3x2 + 5 dx

(2)

∫
(4 sin x− 5 cos x) dx

(3)

∫
sin 2x dx

(4)

∫
1

x+ 1
dx

(5)

∫
(3x+ 5)4 dx

0※この講義に関する情報は webを参照：
http://fuji.ss.u-tokai.ac.jp/nasu/2017/cal2.html

(6)

∫
x log x dx

(7)

∫
4x3 + 1

x4 + x+ 8
dx

(8)

∫ π/2

−π/2

x sin x dx

(9)

∫
cos3 x

1− sinx
dx


